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1. Discribe all solutions of a linear system whose corrponding augmented martix can be row-

rreduced to the given matrix.
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Answer: the linear system is inconsistent.

the linear system is consistent and the only solution is

the linear system is consistent and the solution sets are

Solution :
8 quiz 4 problem 1 » EiE—Hk

page 1 of E



SOLUTION Quiz 5 FEE— iR B

2. Given A is a m X n matrix and B is a n X r matrix. Prove that

(AB)T = BT AT

Solution :

1-3, problem 32.

3. Circle each of the following True or False and then prove or disprove (R8BH8{ < F8) the following
statements.

(a) True If a linear system A7 = 0 has only the trivial solution, then AT = b has
a unique solution for every column vector b with the appropriate number
of components.

Solution :
1-6, problem 38e.

(b) False If A3 is invertible, then A? is invertible.

Solution :
1-5, problem 23f.

(c¢) True Every linear system with the same number of equations as unknowns has
at least one solution.

Solution :
1-4, problem 29b.
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